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BIEBE (A0 —~)LNER)
BIE B -XRIE I Hh 2 I 25 e
5cm 50cm 100cm
O LRy — 0.09 — PA-1000
12/1C0 BN |QETHEIGHE (T— /L) — 0.10 — PA-1000
QEEZAOMA — 0.07 — PA-1000
DB E 5 HILER — 0.09 — PA-1000
6/1(A)EY |QBEZRE(T—ILIE) — 0.09 — PA-1000
QELEIZA O — 0.07 — PA-1000
SERE31EEE
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HIE B -X{IE B TE H 2 BIE R e
5cm 50cm 100c¢m
O35 LRy — 0.08 — PA-1000
122(RA)EY  |QEHEIFER (T—/LHE) — 0.11 — PA-1000
QB EHZA O — 0.07 — PA-1000
DELE 15 I ER — 0.09 — PA-1000
6/3(A)EY |QBEIFHR(T— /L) — 0.08 — PA-1000
QErEIZA O — 0.06 — PA-1000
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BIEBE (A0 —~)LNER)
BIE B -XRIE I Hh 2 BIERR e
5cm 50cm 100cm
O LRy — 0.10 — PA-1000
12/3(A)EY  |QBIEZE(T—ILE) — 0.08 — PA-1000
QEEZAOMA — 0.06 — PA-1000
DB E 5 HILER — 0.09 — PA-1000
6/1(E)EN  |QEIEIBZE(T—ILIE) — 0.10 — PA-1000
QELEIZA O — 0.06 — PA-1000
F 2945
BIEE (X478 —~)LNER)
BIE B - R IE I TE 2 BIE R e
5cm 50cm 100c¢m
O35 LRy — 0.10 — PA-1000
12/1(R)EY  |QEHIGE (T—/LHE) — 0.08 — PA-1000
QB EHZA O — 0.07 — PA-1000
DELE 15 I ER — 0.10 — PA-1000
6/1(R)EY |QBEIFZH(T— /L) — 0.08 — PA-1000
QErEIZA O — 0.06 — PA-1000
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BIEBE (A0 —~)LNER)
BIE B -XRIE I Hh 2 BIERR e
5cm 50cm 100cm
O LRy — 0.11 — PA-1000
12/1(R) N |QETHEIFE (T— /L) — 0.10 — PA-1000
QEEZAOMA — 0.08 — PA-1000
DB E 5 HILER — 0.10 — PA-1000
6/10K)EN  |QEIERIZE(T—ILHE) — 0.11 — PA-1000
QELEIZA O — 0.10 — PA-1000
FRR274ERE
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BIE B - R IE B TE H 2 BIE R e
5cm 50cm 100c¢m
O35 LRy — 0.12 — PA-1000
1210 BN |QEIEIGER (T—/LiE) — 0.10 — PA-1000
QB EHZA O — 0.07 — PA-1000
DELE 15 I ER — 0.11 — PA-1000
6/2(R)EEN  |QBHEZR (T—/L1E) — 0.11 — PA-1000
QErEIZA O — 0.07 — PA-1000
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5cm 50c¢m 100cm
OEFEIZ P ILED — 0.14 — PA-1000
3/2(RA)EEN  |QBIEZE(T—)LHE) — 0.11 — PA-1000
QETEIZA O — 0.11 — PA-1000
DEFEIZ L ED — 0.13 — PA-1000
12/2(QO) BN |QBIHEIZRE (T—)LHE) — 0.12 — PA-1000
EEIZA DA — 0.09 — PA-1000
DEFEIZ L ED — 0.13 — PA-1000
9/2(K) B |QBIEIZRE(T—)LIE) — 0.12 — PA-1000
QEEIZA DA — 0.09 — PA-1000
DEEIFFLED — 0.13 — PA-1000
6/2(R) Bh |QEEBZRE(T—)LE) — 0.14 — PA-1000
QEEIZA O — 0.08 — PA-1000
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5cm 50cm 100¢m
OFFEISHILER — 0.14 — PA-1000
3/4CK)EN  |QBEIEIZR (T—/LE) — 0.14 — PA-1000
QB EHZ A O — 0.09 — PA-1000
OFFEISHILER — 0.15 = PA-1000
, /f(%fﬂgh QB HIHR (T—ILHR) — 0.14 — PA-1000
QB EZA A = 0.10 = PA-1000
OFFEISHILER — 0.14 = PA-1000
11/8(&)EN  |QHEIHR(T—ILIE) — 0.13 — PA-1000
QB EZA O — 0.10 — PA-1000
OBEEIS FILER — 0.09 — PA-1000
9/10(R)EFN  |QBIEIHE (T— /L&) — 0.14 — PA-1000
QB EZ A — 0.14 — PA-1000
OBEEIF FILER — 0.15 — PA-1000
7/30K)EY | QEIEIZR (T—)L1E) — 0.09 — PA-1000
QB EZ A — 0.14 — PA-1000
OBEEIF FILER — 0.14 — PA-1000
5/16(R)BFh  |QBEIERIGE (T—/)LIE) — 0.15 — PA-1000
QB EIHZA O — 0.12 — PA-1000
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